Seat No. :

DD-112

December-2018
M.Com., Sem.-I

404 : Statistics
(Business Research Methods)
(0ld)

Time : 2:30 Hours] [Max. Marks : 70

YAAIAL :

1. (A)

B

DD-112

(M
2
3)

(M

2

)

2

oy Rl o9y AHE AISSL L U 5.
SeqaereAl Gualal sl s €.

AL5S12UARL S1P2SIAL [BHA UL o e €.

HOG (WAL A 4 delRs 2l 242 evil, ddl @asll 2
g 1Al uHdL. 7

AUl ALyl A2 2] ¢ drll USIRL AUERAR Aol 7
24l

“Ualled A YRARIEYd dsilfs WAL 6.7 e UBAULAL AUALAL s e
UYL

AL AWHAAL ezl oreudl.

A A URAL Lol @] 4

D
)
€))
“)
&)
(6)

gl S A 2ea 8 ¢
gllmA Wl 2L e g ¢
A B3l v Bl cvll.
U ALt vl el
[BaicHs gl sed g ¢

URILBLS AW 21y AlAL HOH RisglalrAl g5 AM el

1 P.T.O.



2. (A)
B)

3. (A)

DD-112

(M
2

)
2

wAfs MUl Aza g 7 wRufs WSl ol ldl 1ol

122515201 224 9 7 drll USIRL A BRI AlERAR Mol

YL

[Rexi-t G{el 2 (Ot (el G{El 42RAL dslad el

[Gt-deuarl et 28 @uil, d-l UsRL A1l

AN A6l vl :

M
2
3)

(M

@

M

@)

AL wrAellAL 93 A G egtel el

AHUAL (gL 213 L 61 il GwllBicl vl

214(xt 24 20t [AdRuL @ el

A2l e Ut [AaruiAl Heus 23.5 €, dl vzdl 2L W, dHdl

YRURAHL AcifLs A 01§t ULk :

X 0-10

10-20

20-30

30 -40

40 - 50

$d

f ?

12

17

?

8

60

AR el Hulsdl el X, X, 2 X Bure (R Aote u3lsre Hodl 241

WweulEud | 50 (200 | 450 700 | 900
29 5 17 28 | 12 | 8
24|

@R X, = 7 3 X; = 8 Sl AR X Al Bt A KL

X; =8 X;=9,X3=10,062=4,0,2=9,063=25,1,,=0.6,1,;=0.7,

{12 e 2 ARl AL @gt BHd Qe Sl dl d-l Ue-ls 2 :

15, =0.3

A2 2l Wkl Gurell olBell-l [AuHdis Wl 24 ugels [Auais uel
Hodl :

ofl=est oL | 10 | 20 | 30 | 40 | 50 | 60 | 70 | 80
ellaug[ | 15 | 50 | 110 | 194 | 290 | 417 | 615 | 865

7



(B) L 3Ll ovellod &l : 3

Z-M _

) =——= =2
) X
(@) 2 (b) 3 (©) 3 (d) 2AsMeL Al
1 1 1 PPN . NN
Q) 1, 37 DR BAElSL Gur-l Harmonic (¢RIcHSs) HeAs Lkl

(3) 2l HScl Miz Agls [A2ueis 0.3 § 2 uAH AGeLs 17 8. dl =l Aels AW
(4) 3X =2M=60¢, dlZ=

(5)  otguell [Fud ot Hiza @il

4. (A) (1) sl 5| 2L AR AAHAAL [AHELS 5K FAAL A BA45H 2, 01,
AHA 2 EHA 6 A 28 kAl GALOL, [RIRUGIL 2 AR 633240 23

QRULRLAL ALESAL Al WAL A5 ARALSIREHL AN & 7
YRAAA
*q,
A | oA | AHA | g
GlLon 66 66 51 65
Rl 58 59 61 62
AR, 56 58 59 | 59

ISP wglaAl Buzilal 531 [g- oyt (Al Y2uss0L 1. (635 Adellsieil
60 lIE 531.) [F, 053, 6) = 4.76 AL F, 5(2, 6) = 5.14]

N o

Q) BlsRIAL 2 s1sRAAAL 6L YU 318 G SALZHL RN L 201 ML {12
MOl : 7

Heys | WA [Quad | QeneRil vl
15U 70 12 80

131 75 14 120

~N NN N

5183121 24 515R12ALAL 61 YAl HeSlAL dglad AL2ls © ¢ [z 45 = 1.96]

Yl
DD-112 3 P.T.O.



®)

DD-112

)

2

11 AMSL U 6L Asclfbul HE2 e 209l Hetsid & 8. ol vl

AHAL R51R AR Horod € :

UAH 2ASARUIAL SR

32

24

23

3

12

15

3

16

3

17

19

oflowt el SR

30

15

25

20

20

29

13

32

13

23

20

AL Ol ASALBULAL B A22) SLET YUS dllad 8 5 5H drf W= laeL KL

[t0.05 = 2231

WHI AHEZHER dlbial AR el Hlddl vrell AHEEAL [QuREIL UHA
8. Al uRseuAL W=l L.

el A | 18 | 15

19

15

13

Fedl B| 21 | 19

19

21

16

20

17

[RAll. HL. (4, 6) W2 Fy) s = 4.53 242124l ML (5,.7) HE2 Fy 5 = 3.97]

A AR @l

M
2
3)
“)

&)

(Bl AL V2@ 8,

(ARl URseuALAl vl vl

UAH USRAL e 22a 8] ¢

ol X =154 244 S.E.()—(

NN
.

L=l

A0

)

=4

-~

e, dl AU Heusl 95% [Araail Al uil

ol UAH USRAL M = 0.26, Bl usiRAL ejet = 0.4 €, dl wRlatel el

~

pr
I




Seat No. :

DD-112

December-2018
M.Com., Sem.-I

404 : Statistics
(Business Research Methods)
(Old)

Time : 2:30 Hours] [Max. Marks : 70

Instructions :

(1) The figures on right side indicate the marks.
(2) Use of calculator is allowed.

(3) Values of statistical tables are given in question.

I. (A) (1) State the meaning of Basic Research and Applied Research. Explain its
characteristics and limitations. 7
(2) What is Research Design ? Explain its types in detail. 7
OR
(1) “Research is a systematic scientific process.” Explain with respect to steps of
research process.
(2)  Write the'characteristics of good research.
(B) Attempt any four : 4
(1). What.isResearch report writing ?
(2) * What is formulation of Research proposal ?
(3) State the main objective of research design.
(4) Define qualitative research.
(5) What is operational research ?
(6) State the only name of basic principles of experimental design.
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2. (A)
(B)
3. (A)
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(1) What is primary data ? Explain method of collection of primary data.
(2) What is Tabulation ? Explain types and uses in detail.

OR
(1) State the differences between sampling errors and non-sampling errors.
(2)  Write the meaning of non-probability sampling and explain its types.
Attempt any two :
(1)  Write any two characteristics of good questionnaire.

2
3)

(M

@

)

@)

State any two research utility of cluster sampling.

Define frequency and frequency distribution.

The mean of the following frequency distribution is 23.5. Find out the

missing frequencies and also find its 50" percentile and‘mode :

X 0-10 | 10-20 | 20-30 |1 30—-40 | 40-50 | Total

f ? 12 17 ? 8 60

The minimum value of the variable of the following frequency distribution

is zero. Calculate the co-efficient of variation :

Mid-value | <50 200 | 450 | 700 | 900

Frequency | 5 17 28 12 8

OR
From the data given below, obtain regression line of X, on X, and X; and

estimate the value of X, for X, =7 and X;=8.
X; =8 X;=9. X3 =10,062=4,06,2=9,06,2=25,1,,=0.6,1,;=0.7,
Iy = 0.3

From the following data find Bowley’s co-efficient of skewness and

co-efficient of Quartile deviation :

Marks 1020 | 30 | 40 | 50 | 60 | 70 | 80

Cumulative frequency | 15 [ 50 | 110 | 194 | 290 | 417 | 615 | 865
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z-M _,
M-X
(@ 2 (b) 3
2
(©) 3 (d) None of these

. . . . 1 11
From the following observation obtained Harmonic mean : 1, —, ——

2°3°4°
For some data, the co-efficient of quartile deviation is 0.3 and the first
quartile is 17, find third quartile.

If3X =2M =60, then Z =

State multiple regression model.

A mobile company appoints four salesmen named Aman, Baman, Chaman
and Daman respectively and observed their sales in three seasons, summer,

winter and monsoon. The figures are given in the following table :
Salesmen
Season
Aman | Baman | Chaman | Daman
Summer 66 66 51 65
Winter 58 59 61 62
Monsoon 56 58 59 59

Prepare a two-way ANOVA by using coding method (Subtracting common
number 60) [F, s(3, 6) = 4.76 and F, ,5(2, 6) = 5.14]

The information about obtained scores of intelligence test on two groups of
boys and girls is given below :

Mean | S.D.

No. of Students

Boys | 70 | 12 80

Girls 75 14 120

Is there a significant different in the mean scores obtained by boys and girls ?
[Zy 95 = 1.96]

OR
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(1) 11 soldiers was visited ‘Rifle-Range’ upto two weeks continuously. The
recorded scores of them for both week is given below :

1t weekscores |32 |24 |23 3 | 12|15 3 |16| 3 |17 19
2nd week scores | 30 | 15(125(120(20 /29 (1332|1323 ]20

Test the hypothesis that there is any significant difference between scores of
both weak. [t, ;s =2.23]

(2) The following samples are drawn from two normal population. Test the
hypothesis that the population variances are equal.

Sample A | 18 | 15 | 19 | 15 | I3 | — -
Sample B | 21 | 19 | 19 | 21 | 16 | 20 | 17
[For (4, 6) d.f., F (s =4.53 or for (5, 7) d.f., F, ;s = 3.97]

(B) Attempt any three :
(1) What is unbiased estimator ?
(2) Define Null hypothesis.
(3) What is type-I error ?
4 If X =154 and S.E.()—i) = 4 then find 95% confidence interval for the
population mean.

(5) [If Type-I error = 0.26, Type-Il error= 0.4, then obtain the power of test.
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Instructions :

(1) The figures on right side indicate the marks.
(2) Use of calculator is allowed.

(3) Values of statistical tables are given in question.

I. (A) (1) State the meaning of Basic Research and Applied Research. Explain its
characteristics and limitations. 7
(2) What is Research Design ? Explain its types in detail. 7
OR
(1) “Research is a systematic scientific process.” Explain with respect to steps of
research process.
(2)  Write the'characteristics of good research.
(B) Attempt any four : 4
(1). What.isResearch report writing ?
(2) * What is formulation of Research proposal ?
(3) State the main objective of research design.
(4) Define qualitative research.
(5) What is operational research ?
(6) State the only name of basic principles of experimental research design.
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(B)
3. (A)
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What is primary data ? Explain method of collection of primary data.

What is Tabulation ? Explain types and uses in detail.
OR

State the differences between sampling errors and non-sampling errors.

Write the meaning of non-probability sampling and explain its types.

Attempt any two :

)
@
)

(M

2

)

State the meaning of Data entry and Data processing.

State any two research utility of cluster sampling.

Define frequency and frequency distribution.

The mean of the following frequency distribution‘is 23.5. Find out the

missing frequencies and also find its 50" percentile and mode :

X

0-10

10-20

20-30

30-40

40 <50

Total

?

12

17

?

8

60

The minimum value of the variable-of the following frequency distribution

is zero. Calculate the co-efficient of variation :

Mid-value | 50 | 2004 450 | 700 | 900
Frequency | 5 17 28 12 8
OR
The information about advertising expenses and sales of a company are given
below :
Advertising Expenses Sales
(% in lakhs) (% is lakhs)
Mean 20 100
S.D. 5 12

If'its co-relation of co-efficient is 0.8, then.

()  calculate two regression lines.

(i)  find the likely sales when Adv. exp. is ¥ 25 lakhs.

(iii) what should be advertisement exp. if the company wants to attain sales
target of ¥ 130 lakhs.

14
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From the following data, find Bowley’s co-efficient of skewness and
co-efficient of Quartile deviation :

Marks (less than) 1020 30 | 40 | 50 | 60 | 70 | 80

Cumulative frequency | 15|50 | 110 | 194 | 290 | 417 | 615 | 865

Attempt any three : 3
Z-M
) ——==7
(1) MoX
(@ 2 (b) 3
2
(©) 3 (d) None of these
. . . . 1 11
(2) From the following observation obtained Harmonic mean : 1, VR

3)
“)

)

(M

@

If o, =0, p, = 14.75, py = —39.75, w, = 142.3125, then find (.

The multiple regression analysis is obtained with the help of computer
software, the value of RZ = 0.36 interpret it.

State multiple regression model.

100 Tickets are taken randomly from a box numbered from 0 to 9. Obtained

information is given below : (Take thab =16.92 ford.f. = 9) 7
Digit O | 1T 2|3 |4 |5]|6]|7|8]09
Observed

1109 |10 8 | 1L |11 |1l | 1I] 8

frequency

Can we say that the number of digits are equal in box ?

The information about obtained scores of intelligence test on two groups of
boys and girls is given below : 7

Mean | S.D. | No. of Students

Boys 70 12 80

Girls 75 14 120

Is there a significant different in the mean scores obtained by boys and girls ?
(2905 = 1.96]

OR
15 P.T.O.



(1) 11 soldiers was visited ‘Rifle-Range’ up to two weeks continuously. The
recorded scores of them for both week is given below :

1t weekscores |32 |24 |23 3 | 12|15 3 |16| 3 |17 19
2nd week scores | 30 | 15(125(120(20 /29 (1332|1323 ]20

Test the hypothesis that there is any significant difference between scores of
both weak. [t, ;s =2.23]

(2) The following samples are drawn from two normal population. Test the
hypothesis that the population variances are equal.

Sample A | 18 | 15 | 19 | 15 | I3 | — -
Sample B | 21 | 19 | 19 | 21 | 16 | 20 | 17
[For (4, 6) d.f., F (s =4.53 or for (5, 7) d.f., F, ;s = 3.97]

(B) Attempt any three :
(1) What is unbiased estimator ?
(2) Define Null hypothesis.
(3) What is type-I error ?
4 If X =154 and S.E.()—i) = 4 then find 95% confidence interval for the
population mean.

(5) [If Type-I error = 0.26, Type-Il error= 0.4, then obtain the power of test.
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